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(1) What forces are exerted on the bolt at the object E in Fig. 1 as a results of the
150N forces on the pliers? What is the mechanical advantage of the pliers?

Draw free body diagram for each member. (30%)

150 Né

(2) A ball of mass m=1kg, as shown in Fig. 2, is released from rest with the cord taut
and 6=30°. Assume the cord length /= Im, find the tension force in the cod.
What is the maximum allowable tension force for the cord during the ensuing

motion? (Note g=9.8 N/m?) (30%)




H3IH F2H

(3) A uniform column is fixed at the base, pinned at the top, and is subjected to a

vertical load P as shown in Fig. 3. Find the buckling equation and determine the
critical load P based on the trial and error method. (40%)
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